
 

  

 

 

B.Com. DEGREE EXAMINATION –  

JUNE 2010. 

Third Year 

Corporate Secretaryship 

ACCOUNTING FOR MANAGERIAL DECISIONS 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Define Management Accounting. What are its' 

nature?  

 ‘÷©»õsø© PnUQ¯À’  – ÁøµÂ»UPn® u¸P. 

Auß ußø©PøÍ ÂÍUSP. 

2. State the significance of current ratio. 

 |øh•øÓ ÂQuzvß •UQ¯zxÁzøu SÔ¨¤kP. 

3. What do you mean by working capital? 

 |øh•øÓ •uÀ SÔzx }Âº AÔÁx ¯õx? 
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4. From the details given below prepare a common 

size income statement of  X Ltd., 

 31.12.06  31.12.07 

 Year ending  Year ending 

     Rs.        Rs. 

Sales 2,00,000  5,00,000 

Cost of sales 1,00,000  2,20,000 

Operating expenses 20,000  30,000 

Non-operating expenses 30,000  35,000 

 X ¼ªöhm HkPÎ¼¸¢x QøhUP¨ö£ØÓ RÌPõq® 

ÂÁµ[PÐUS ö£õx AÍÄ Á¸Áõ´ £mi¯À 

u¯õ›UPÄ®. 

 31.12.06À  31.12.07À 

 •iÁøh²® 

BsiØS 

 •iÁøh²® 

BsiØS 

       ¹.        ¹. 

ÂØ£øÚ 2,00,000  5,00,000 

ÂØ£øÚ AhUP® 1,00,000  2,20,000 

C¯UPa ö\»ÄPÒ 20,000  30,000 

C¯UP® \õµõ ö\»ÄPÒ 30,000  35,000 
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5. From the following particulars calculate stock 

turnover ratio : 

 Rs. 

Opening stock 40,000 

Closing stock 44,000 

Sales 4,15,000 

Gross profit ratio 20% 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x \µUQ¸¨¦/ÂØ£øÚ 
ÂQu® Psk¤iUPÄ®. 

 ¹. 

öuõhUP \µUQ¸¨¦ 40,000 

CÖv \µUQ¸¨¦  44,000 

ÂØ£øÚ 4,15,000 

ö©õzu »õ£ ÂQu® 20% 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. State the differences between management 

accounting and cost accounting. 

 ÷©»õsø© PnUQ¯¾US® AhUP Âø» 
PnUQ¯¾US® Cøh÷¯¯õÚ ÷ÁÖ£õkPøÍU 
SÔ¨¤kP. 
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7. Explain the uses of ratio analysis. 

 ÂQu £S¨£õ´Âß £¯ß£õkPøÍ ÂÍUSP. 

8. From the following information, find out  

 (a) Current assets 

 (b) Current liabilities 

 (c) Stock 

  Current ratio = 3.5 

  Liquid ratio = 2.5 

  Working capital = Rs. 1,00,000. 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x  

 (A) |øh•øÓ ö\õzxUPÒ 

 (B) |øh•øÓ ö£õÖ¨¦PÒ 

 (C) \µUQ¸¨¦ PnUQkP. 

  |øh•øÓ ÂQu® = 3.5 

  }ºø© ÂQu® = 2.5 

  |øh•øÓ •uÀ = ¹. 1,00,000 
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9. From the following balance sheets Arul Ltd. You 

are required to prepare a cash flow statement. 

Liabilities 2008 

Rs. 

 2009 

Rs. 

Assets 2008 

Rs. 

 2009 

Rs. 

Share capital 4,00,000  5,00,000 Cash 60,000  94,000 

Creditors 1,40,000  90,000 Debtors 2,40,000  2,30,000 

Profit and Loss 

A/c 

20,000  46,000 Stock 1,60,000  1,80,000 

    Land 1,00,000  1,32,000 

 5,60,000  6,36,000  5,60,000  6,36,000 

 A¸Ò {Ö©zvß HkPÎ¼¸¢x QøhUP¨ö£ØÓ 
C¸¨¦ {ø»U SÔ¨¦PÎ¼¸¢x {v |h©õmh 
AÔUøP u¯õ›UP. 

ö£õÖ¨¦PÒ 2008 
¹. 

 2009 
¹. 

ö\õzxUPÒ 2008 
¹, 

 2009 
¹. 

£[S 
‰»uÚ® 

4,00,000  5,00,000 öµõUP® 60,000  94,000 

PhÚõÎPÒ 1,40,000  90,000 PhÚõÎPÒ 2,40,000  2,30,000 

»õ£|mhU 
P/S 

20,000  46,000 \µUQ¸¨¦ 1,60,000  1,80,000 

    {»® 1,00,000  1,32,000 

 5,60,000  6,36,000  5,60,000  6,36,000 
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10. For a company to produce 10,000 units of its 

products, the following are the estimates. 

 Materials Rs. 15 per unit 

 Wages Rs. 10 per unit 

 Works expenses (fixed) Rs. 40,000 

 Variable Rs. 4 per unit. 

 General expenses (all fixed) Rs. 60,000 

 Profit is 20% on sale price. 

 Prepare the budget for 10,000 units. 

 1,000 ö£õ¸mPÒ EØ£zv ö\´¯, {ÖÁÚ® JßÔØS 

RÌUPshÁõÖ vmhaö\»ÄPÒ u¯õ›UP¨£mkÒÍx. 

 ‰»¨ö£õ¸mPÒ A»QØS ¹. 15 Ãu® T¼ A»QØS 

¹. 10 Ãu®. 

 Bø» ö\»ÄPÒ (©õÓõ) ¹. 40,000 

 ©õÖ® ö\»ÄPÒ ¹. 4 Ãu® A»S JßÔØS 

 ö£õxaö\»ÄPÒ (AøÚzx® ©õÓõ) ¹. 60,000 

 ÂØ£øÚ Âø»°À 20% »õ£®. 

 10,000 ö£õ¸mPÒ u¯õ›UP vmh £mi¯À u¯õ›UP.  
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11. An industrialist is offered two options for 

investment with the following cash flows. His 

decision criterion is a pay-back period of 3 years. 

 Option 1 Option 2 

        Rs.       Rs. 

Investment required  8,000 7,000 

Annual cash flows :   

Year 1 4,000 2,500 

Year 2 3,000 2,500 

Year 3 2,000 2,500 

Year 4 2,000 2,500 

 Advice the industrialist under : 

 (a) Pay-back method 

 (b) Return on investment method. 

 RÌPõq® öµõUP EÒÁµÄPÐhß Ti¯ Cµsk 

•u½mk Â¸¨£[PÒ J¸ öuõÈ»v£›ß •ß 

EÒÍÚ. CÁØÖÒ G¢u •u½mk ]Ó¢ux GÚ  

 (A) v¸®£¨ö£Ö® Põ» •øÓ°¾® 

 (B) •u½miß «x Á¸Áõ´ Ai¨£øh°¾® 

PnUQkP. 
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 Â¸¨£® 1 Â¸¨£® 2 

           ¹.        ¹. 

÷uøÁ¯õÚ •u½k 8,000 7,000 

Bsk EÒÁ¸ öµõUP® :   

•uÀ Bsk 4,000 2,500 

Cµshõ©õsk 3,000 2,500 

‰ßÓõ©õsk 2,000 2,500 

|õßPõ©õsk 2,000 2,500 

12. Write short notes on : 

 (a) Comparative statements. 

 (b) Funds flow statements. 

 (c) Flexible budget. 

 ]Ö SÔ¨¦ ÁøµP : 

 (A) J¨¦Áø© £mi¯À 

 (B) {v |h©õmh AÔUøP 

 (C) ö|QÌÄ vmh¨£mi¯À. 

——––––––––– 


